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1.
Néveleges fesziiltség:
U, =11kV

Tavvezeték
Zvez = 0.1 +j0.4 Q/km
lez=k*2km=9%*2km =18 km

Fogyaszto:
Pr=2 MW
cosg = 0.8 (ind.) sing = 0.6

a)
. 9\
Sp = P = 2M =25MVA
COSP (.8
(Qp = Spsing = 2.5M - 0.6 = 1.0 Muwvar
Sk 2.0M

(cosp—jsing) = mg j0.6) = 131.2(0.8 j0.6) =
VEN 4 4 V3.1
=105 47 '[4]

AU, hosse) = ToBoe: + 1, X e = 105(0.1-18) + 78.7(0.4 - 18) = 755V, 4o,

Po. =37 R... = 3(105% + 78.72)(0.1 - 18) = 92.98kW

Pr  2M
cosp’ = 0.95 = 9‘_;!1 = '5" (sing’ = sin(arccosy’) = 0.31)
X 2
2M .
= S = - =2.105MV A
0.95

= () = Spsing’ =2.105M - 0.31 = 0.657Mvar

= Qo= Q% Qp =0.65TM — 1.5M = —0.842Mvar

b)

It Sk ( ! ising) 2.105M
= — | CO8E — ]8Iy = ——

U, T = R T
= 105 j34.3[A]

AU! =I'R,..+1 X,.=105(0.1-18) + 78.7(0.4- 18) = 436V},...

el fuossz ) T

P =3 |Lf’| R,..=3(105% + 34.3%)(0.1 - 18) = 65.88kW

(0.95-70.31) = 110.5(0.9570.31) =



2.

Mogottes:

Trl:

Vez:

Tr2:

S; = 6000 MVA

=10 %,

Sn =160 MVA

Un =220/126 kV (X]_ = X2 = Xo)
Yyn

Z1=2>= J04 Q/km
Zo=jl1 Q/km
lve; = k*5 km = 9*5 km = 45 km

e=11 0/0,

Sn =35 MVA

Un = 126/6.6 KV (X1 = X5 = Xo)
Ynd




